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20. Which of the following statement is most likely to be accurate?

A. To be effective, analytical procedures performed near the end of the audit should be performed by the
partner performing the quality review of the audit.

B. Audit documentation is intended to allow the general public to understand the audit work performed, the
evidence obtained, and the significant conclusions.

C. Applying substantive tests to the details of asset and liability accounts as of an interim date, rather than
as of the balance sheet date eliminates the use of certain statistical sampling methods that would
otherwise be available.

D. The issue with utilizing published industry averages for analytical procedures lies in the lack of

comparability.

1. Which of the following situations would heighten an auditor's concern about the risk of fraudulent financial
reporting?
(1) Large amounts of liquid assets that are easily convertible into cash.
(2) An overly complex organizational structure involving unusual lines of authority.
(3) Financial management's participation in the initial selection of accounting principles.
(») Inability to generate positive cash flows from operations, while reporting large increases in earnings
(5) Inability to borrow necessary capital without obtaining waivers on debt covenants.
(6) Extreme degree of competition within the industry.
(7) Sales goals in excess of the preceding year.
Capital structure including various operating subsidiaries.
AD G © @
B.@O ® ®
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02. Which of the following is least likely to be an accurate statement concerning characteristics of an audit?
A.

In verifying debits (credits) to perpetual inventory records of a nonmanufacturing firm, the auditor would
be most interested in examining the vendors' invoices (shipping documents).

An analysis of inventory turnover can indicate possible obsolescence of inventory.

Testing the entity's computation of standard overhead rates is an audit procedure that provides assurance
regarding the proper valuation of a manufacturing entity's inventory.

The direction of tests for understatement errors is generally directed from the recorded entry to source

documents.

For Question #23 to #25: Auditors are required to assess the effectiveness of the client's internal controls over
financial reporting. This involves designing and implementing procedures to obtain audit evidence regarding
the operating effectiveness of these controls. The auditor aims to evaluate whether the controls are suitably
designed to prevent or detect material misstatements and whether they have been consistently applied. The
results of these tests inform the auditor's overall assessment of the risk of material misstatement in the financial

statements. Please select the most appropriate answer for each of the following questions.

After obtaining an understanding of internal control and arriving at a preliminary assessed level of control
risk, an auditor decided to perform tests of controls. The auditor most likely decided that:

A.

B.
C.
D.

It would be efficient to perform tests of controls that would result in a reduction in planned substantive
procedures.

Additional evidence to support a reduction in the assessed level of control risk is not available.

An increase in the assessed level of control risk is justified for certain financial statement assertions.
There were many internal control deficiencies that would allow misstatements to enter the accounting
system.

Which statement is correct concerning the relevance of various types of controls to a financial statement audit?

A.
B.

An auditor may ordinarily ignore the consideration of controls when a substantive audit approach is used.
Controls over safeguarding assets and liabilities are of primary importance, while controls over the
reliability of financial reporting may also be relevant.

Controls over the reliability of financial reporting are ordinarily most directly relevant to an audit, but
other controls may also be relevant.

All controls are ordinarily relevant to an audit.
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anticipated in the audit plan?
The auditors have determined that controls have been implemented (placed in operation) but, in

A.

B.

C.
D.

POTMOZECrRAST-SZOTHUAOW B

accordance with the audit plan, have performed no tests of controls.

5. Under which circumstance is it likely that the extent of substantive procedures will be expanded beyond that

The operating effectiveness of certain controls was found to be less than expected, although no material

misstatements were identified.
Certain controls do not leave a trail of documentary evidence.
Deviation rates were greater than zero and approached anticipated levels.

=B (5a):
Picture yourself as a seasoned senior auditor in an audit engagement, committed to safeguarding the integrity
and precision of financial statements. Your mission is to address the challenge of gathering evidence that reflects
the intricate details within the accounts. As you navigate through account balances and the associated assertions
listed below, your task is to choose the audit procedure that best provides the most relevant evidence for the
given account assertion.
Procedures:

Trace sales invoices and shipping documents just before year-end to customer accounts.

Vouch invoices for the purchase of supplies to receiving document.

Examine invoices paid subsequent to year-end and trace to subsidiary ledger

Review confirmation of account receivable balances and agree to accounts receivable subledger.

Vouch fixed asset acquisitions to related cash disbursement.

Trace sales invoice and shipping documents just before year end to customer account transactions.

Trace individual customer account transactions to-dales invoice.

Agree cash balance to online year-end bank statement.

Examine invoices from suppliers

Review schedule of bad debt expense.

Examine invoices paid subsequent to year-end and tract to subsidiary ledger.

Vouch fixed asset acquisitions to purchase invoices.

. Trace fixed item to fixed asset master control listing.

Confirm accounts payable balance with key suppliers.

Select items from inventory listing and locate the items in the warehouse.
Agree cash balance per the bank reconciliation to the year-end bank statement
Trace deposit per the bank statement to the cash subsidiary ledger.”

Trace individual payable transaction to purchase order.




HAs AL 113 BEE AEIREHELARESE A ERRE
F9Q R #1147

 ® A B £t & % At 3l S RN *HBM2A68(=) Fwfp

1)
@
3)
@
©)

Account Balances Assertion Procedure
Cash Existence

Accounts receivable Completeness

Inventory Valuation and allocation

Fixed assets Rights and Obligations

Accounts payable Completeness

$=4 (12 2):
Assuming that you are reporting on a client’s finaneial statements. For each of the following scenarios, reply as
to the possible type(s) of opinion and report alteration, if applicable. Additional notes:

Each scenario is independent from others.

Unless stated otherwise, assume the matter involved is material.

If the problem does not involve characteristics that indicate pervasiveness, you may need to consider all
possible conditions (pervasive or not).

Unless the situation explicitly suggests that the auditor wishes to emphasize a particular matter, do not
consider an auditor discretionary circumstance for modification of the audit report.

The following report types may be used once, more than once, or not at all.

Types of Opinions:

(D

A.

6 mEmY 0w

Unmodified — standard.

Unmodified with an emphasis-of-mater paragraph prior to opinion paragraph.
Unmodified with an emphasis-of-mater paragraph after opinion paragraph.
Qualified.

Adverse.

Disclaimer.

Other

Scenario Auditor’s Opinion

Client X holds significant investments in bonds issued by affiliated companies.
These bonds are actively traded on the market. Management values all investments
at their initial purchase prices, and the audit engagement team confirms the accuracy
of these historical costs. Despite the assurances of accurate historical costs, the audit
team expresses concern that a substantial portion of these investments may never be
fully realized due to their market value being significantly lower than the recorded
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costs. In response to this, the client discloses the facts in notes to the financial

statements.

(2) To align depreciation more closely with actual usage patterns, Client Y changes its
depreciation method for production equipment from straight-line to a units-of-
production method based on hours of utilization. Although this change has a
material impact on the comparability of the entity’s financial statements, the auditor,
recognizing the validity of the reasons behind the change, concurs with the decision.

(3) Client Z, recognizing the need for a thoreugh examination of its financial affairs,
engaged the audit team after the end of the fiscal year. Unfortunately, this timing
prevented the auditor from physically observing the crucial year-end inventory
count. While the audit team implemented alternative procedures; such as reviewing
documentation and assessing internal controls, these procedures were inadequate to
ascertain the accuracy and completeness of the reported ending inventory and
associated information in the financial statements.

(4) Client V is issuing two years of comparative financial statements. While the client
engages your firm to conduct the audit for the second year, the first year was audited
by another CPA firm, which is not being requested to reissue their audit report.

(5) During the examination of Client W's long-term investments, you discover a
significant contingent liability, casting material-implications on the consolidated
financial statements. The likelihood of this contingent liability being resolved with
a substantial loss in the future is high, and the impact is reasonably estimated at
$1,950,000. The client has not made.an adjusting entry.but discloses the issue in a
detailed note accompanying the financial statements, outlining the nature of the
contingent liability and incorporating the estimated amount.

(6) Youuncovered evidence that Client S engaged in illegal political payoffs. However,
due to the client's insufficient record retention policies, you cannot ascertain the
specific amounts related to these payoffs. Moreover, the client refuses to disclose
these political payoffs in a note to the financial statements. Despite not finding
indications of pervasive misstatement in the financial statements, you are concerned
that they might be materially misstated.
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#wl (20 2):

Suppose you were the auditor of X-Space Company. During prior years’ audits you used the ratio estimation
sampling to test X-Space’s inventory. For the current year, however, you decided to adopt the probability
proportional to size (PPS) sampling to evaluate whether there are material misstatements in X-Space’s inventory
balance. Based on X-Space’s accounting records, the book value of the ending inventory is $5,500,000. Before
executing the sampling plan, you made the following professional judgments and decisions:

(1) Since you would like to be more certain that the ending inventory balance is not materially misstated,
you set the audit risk at 5%.

(2) You concluded that there was a high likelihood of misstatement, ignoring internal controls, in inventory.
Therefore, you assessed X-Space’s inherent risk at 90%.

(3) After conducting the tests of controls, you decided to set the control risk at 74%.

(4) Since you planned to conduct some other substantive procedures in addition to the PPS sampling in
auditing X-Space’s inventory, you assessed the other substantive procedure risk at 50%.

(5) You estimated the performance materiality of X-Space’s inventory to be 10% of its year-end book value.

(6) Based on your knowledge of the changes in X-Space’s production and selling policy, you expected that
an overstatement of $325,000 in X-Space’s inventory is reasonable.

(7) You obtained the following PPS sampling table from AICPA’s Audit Sampling guide:

Test of Detailed Risk 1% 5% 10% 15% 20% 25%
Error Expansion Factor 190 1.60 1.50 1.40 1.30 1.25
Reliability Factor 4.61 3.00 231 1.90 1.61 1.39

Incremental allowance for sampling error

(Ranked Overstatement Error)

1.03 0.75 0.58 0.48 0.39 0.31
aa 0.55 0.44 0.34 0.28 0.23
0.64 0.46 0.36 0.30 0.24 0.18
0.56 0.40 0.31 0.25 0.21 0.17
0.50 0.36 0.28 0.23 0.18 0.15
0.46 0.33 0.26 0.21 0.17 0.13
0.43 0.30 0.24 0.19 0.16 0.13
0.41 0.29 0.22 0.18 0.14 0.12
0.38 0.27 0.21 0.17 0.14 0.11

WO ndh W

IRequired:

(A) Compute the PPS sampling interval (rounded to the nearest dollar) and the maximum sample size in your

sampling plan. (5 points)
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(B) Suppose you have selected a random start of $25,000, identify the inventory items that would be included
in the sample from the first 10 book values listed below: (3 points)

I{g;nicgg Book Values I{:Z;“ﬁg Book Values
! $85,500 6 $31,100
2 $22,100 7 $58,000
3 $69.000 8 $62.000
4 $4,500 9 $3,300
5 $16,540 10 $49,000

misstatements in the sample:

Inv. Item

HKUST
CUHK
POLYU
CITYU

misstatements in your sample:

Customers

NCCU
NTU

ending inventory balance? (4 points)

#EA (13 %)

(C) Suppose, after conducting physical counts to the selected inventory items, you discovered the following

Book Value Audited Value
$55,000 $35,000
$44,000 $40,000
$90,950 $80,000
$35,000 $30,000

Book Value

$40,000
$25,000

Based on the sampling results, what audit conclusion can you reach about the fairness of X-Space’s
ending inventory (rounded all dollar amounts to the nearest dollar)? (8 points)

(D) Suppose, in addition to the four misstatements you found in (C) above, you also found the following two

Audited Value
$45,000
$35,000

Based on the sampling results you found in (C) and (D), what audit conclusion can you reach about X-Space’s

An improper cutoff of transactions around year-end occurs when journal entries are recorded in the wrong year.
In this problem, you are to determine the effects of various cutoff misstatements relating to recording cash
receipts received on accounts receivable and the recording of credit sales. To effectively consider the effects of
an improper cutoff, it is helpful to consider the underlying journal entries:
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Type of Transactions Proper Journal Entry (Entries)

Cash receipt on an account receivable Cash 3,000.00
Accounts Receivable 3,000.00

Credit sale—periodic inventory system | Accounts receivable 2,000.00
Sales - 2,000.00

Credit sale—perpetual inventory system Accounts receivable 2,000.00
Sales 2,000.00

Cost of Goods Sold 1.300.00
Inventory 1,300.00

An example of a possible improper cutoff is to "close" the cash receipts journal on December 30 and include
December 31 sales in the subsequent year (e.g., the entry is dated January 1 rather than December 31). As a
result, cash is understated by $3,000, while accounts receivable is overstated by $3,000 for the year just ended.
The effects of closing the sales journal depend upon whether a periodic inventory or perpetual inventory system

is in use. The effect of “leaving open” journals past year-end and dating January entries as of December may
be determined in a similar manner.

Required:

Assume that the client made the following actual credit sales and received cash receipts as follows after
12/29/20X8:

Cash Receipts
Sales Cost of Goods Sold (Receivables Collected)
12/30/X8 $1,000 $ 600 $4.000
12/31/X8 2,000 1,300 3,000
/X9 3,500 2,200 2,500
112/X9 4,000 2,900 3,200

Determine the overstatements (O) and understatements (U) that would result from the following situations.
Assume that each situation is independent of one another. As an illustration, Situation 1 has been solved for
you. To simplify the problem, in the case of a perpetual inventory, assume that the year-end inventory count
did not identify and correct the nliSstatement(s).
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Situation Cash |Acct. Rec. | Inventory| CGS | Sales |Income,

1. Zhang Inc. left the cash receipts journal open after year-end $2,500 {o)i $2,500 {u}
for an extra day and included January 1 cash receipts in the
December 31 totals. The company uses a periodic inventory
system. What effect would this have on 20X87

2. Zhang Inc. closed the cash receipts journal at 12/29 and reported the
last two days of cash recelpts in January of 20X9. The company uses
a periodic inventory system. What effect would this have on 20X87

3. Zhang Inc. left the sales journal open after year-end for an extra
day and included January 1 sales in the December 31 totals. The
company uses a periodic inventory systerm. What effect would
this have on 20X8?

4. Same as 3, but the company uses a perpetual inventory system.

5. Zhang Inc. closed the sales journal at 12/29 and reported the two
last days’ sales in January of 20X9. The company uses a perpet-
ual inventory system. What effect would this have on 20X8?

6. Zhang Inc. left both the sales journal and the cash receipts
journal open through January 2 and reported the first two days’
transactions in December of 20X8. The company uses a periodic
inventory system. What effect would this have on 20X87

1 2 —~ FENRHELEE  RFHL -
Rt LT






